Name:

Today is:

Morning Math

Score:

/ Please change each unit of measurement into an equivalent measurement. \

by

2 meters = feet 90 cm= millimeters

3.3 feet = meters 30 mm = centimeters

3 meters = feet 92 mm = centimeters
\\1 meter = feet 79cm= millimeters
/- There are 28 boys and 36 \ Divide

girls on the field trip.

« What percentage of the
total students are boys? 7
m : -

~

o
/
39)6,630

o

24)5,640

Y
N
12)2,328

/

CCSSMM6- 86

©2012EducationCreations



Name:

Today is:

Math Homework

Score:

/ Please change each unit of measurement into an equivalent measurement. \

by

4 meters = feet 22 mm = centimeters

6.6 feet = meters 52cm = millimeters

2 meters = feet 150 mm = centimeters
\\3 meters = feet 55cm= millimeters
/- There are 32 boys and 40 \ Divide

girls on the field trip.

« What percentage of the
total students are girls? 7
3 -

~

N
/

o

30)6,990

16)4,816

25)8,100

Y
<

/
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Name: Score:

Morning Math

Today is:

4 Y4

Round 39.1094 to the thousandth.

~

Round 6.427 to the nearest hundredth.

-

\_

Please add. _ . , \
hange to a mixed number. Reduce if possible.

2

5
o T T 59

T
3\
ol

0 )
4

lease subtract.

-
N

12 x (313 +536) = 3 1 3

$187.46 37.6 538 469
» Hy X 29 X 59 X 232

N Y
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Name:

Today is:

Math Homework

-

Round 8.5354 to the thousandth. Round 3.469 to the nearest tenth.

-

~

Please add.

/ I
A + _—
g 2

)

NN

@)

ol
—°|0'|

0 )

lease subtract.

-

/
\

ange to a mixed number. Reduce if possible.

15 x (297 + H66) =

VAN

$215.73
X 52

N

X 3.8 X 197

J
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Name:

Today is:

Score:

Morning Math

remains the same.

Write the missing number, if the ratio

00000 3 | 12

15

2

o

N

Write 0.023as a percent.

Write 48.5% as a decimal.

-

Find the median.

52,3,2,64, 15,7

/. Kirk drives an average
of 67 miles a week.
« How many total miles

will he drive in 1 year?

/

N
N

Find the mean.

2,59, 2,4,45, 2

N

A\

\_

Kirstin bought a new
couch for $918.55.
Tax is an additional
7%.

What was the total
cost of the couch?

AN

/

o
g 620 49
x 265

o

x /3

38.7

X Y2

54)972

=
16)624

)
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Name:

Today is:

Score:

Math Homework

remains the same.

Write the missing number, if the ratio

'YX Xe 3 | 6

1

o

N

Write 0.041as a percent.

Write 23.5% as a decimal.

-

Find the median.

76,3,6,5,3,38, 16,2

N
N

\_

/- Paulo drives an
average of 92 miles a
week.

« How many miles will he

drive in 1 year?

N/

Find the mean.

3, 98, 98§, 2, &, 97/

N

A\

AN

Aaron bought a
new table for
$782.57.

Tax is an additional
7%.

What is the total
cost of the table?

AN

/

o
g 465 65
x 199

o

x 45

25.9
X 3.5

46)690

<
19)703

)
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Name:

Score:

Morning Math

Today is:

278 x (980 + 10) =

K Belinda has $3,290.52 in \

/

.

Multiply and reduce if possible.

2 _
6"?‘

her bank account.
Then she deposited two
checks for $255.37 and
$128.66.

She is buying new bed-
room furniture for
$1,862.78.

How much will be left in
her account after the

- \ purchase?
/

e Mr. Peters is purchasing cameras and cases for his two sons. \

What is the total cost of these items?

Mr. Peters’ tax will cost an additional 8.0%.

How much is the tax for these items in all?

What is the final cost of these items
including tax?

[ $472.68
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Name: Score:

Math Homework

Today is:

K Randy had $3305.26 in \

U36 x (550« |0) = his bank account.

e Then he deposited two
checks for $168.55 and
$438.18.

e He is buying a new

4 I computer for $1,297.83.
Multiply and reduce if possible. « How much will be left in

his account after the

& x % = purchase?

N - AN

e Mrs. Patrick is buying four new chairs and two new lamps.

N

What is the total cost of these items?

[ $139.97
Mrs. Partick’s tax will cost her an additional 8.0%.
How much is the tax for these items in all?
What is the final cost of these items [ $48.89
including tax?

o
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Name: Score:

Morning Math Test

Today is:
4 Use >, < or =. N Solve: h
Z 4 Q b 2 2 | |
g8 * 5 6 " 3 > X 5 X 3 T
N AN J
@ N )
Find the mean. e Whatis the sum
of 436, 428, 179,
3,50,4, 15, 1,37 442, and 31972
- AN J
/Find the median. \ /- Mr. Parker picks an \
average of 416 oranges
a month from the orange
1, 91,4 2,53 grove.

« How many oranges will
he pick in 12 months?

\_ /
: 465 257 22 A

< 190 218 . 2 50)7,000

o )
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Name: Score:
Math Homework
Today is:
4 Use >, < or =. A Solve: )
9 5 3 1 e O
5 % 6 Q 12 %5 5 3 2
N\ J J
4 N N

Find the mean.

13, 74, 59, 2, 30, I4

\
/Find the median.

3,22,5,73,6,6,5

N

_/
AN

AN

N

e Whatis the sum
of 577, 635, 399,
383, and 3557

Nurse Meyers gives an
average of 319 flu
shots each month.
How many flu shots
will she give in 9
months?

AN

503
x | /5

o

339
x 242

+

265

26 45)5,640

/
~

)

CCSSMMG6H-90

©2012EducationCreations



	Grade6CCSSMM86.pdf
	Grade6CCSSMM87.pdf
	Grade6CCSSMM88.pdf
	Grade6CCSSMM89.pdf
	Grade6CCSSMM90.pdf

